64 ]
3@ =35+ 100 3+0=0
® 64,6.4,70.4 @ 64,64,128 @64,0.64,3.64

@ 64,6.04,70.04 ® 64,0.46,64.46

64 64
— = — = .64 = 3.
3100 3+100 3+0.6 3.64




2. og FolA 1.3 3 277F 22 e ol AU

@® 10.3 @)1.30 ® 1.03 @ 13.0 ® 1.030

447 ofdl & A9 02 4
a47 ofd & Aelo] 02 A

@13 ®13 ®1.03Y¥Y k.




3.

the @, O S0l YRS £EL AR £ e 1240,

1.319-@-1.339 - © - 1.359

@ 1.320, 1.340 @ 1.329, 1.339 (@)1.329, 1.349

@ 1.327, 1.349 ® 1.329, 1.359

0.01 9] 221 9] 5247k 14 AZ- Yt
@ = 1.319 + 0.01 = 1.329
© = 1.339 + 0.01 = 1.349




(1)1-02  (2)05-0.2
@mos @03 @ 1)08@207 @ (1)07(2)08
@ (1)13(203 ® (1) 1.3(2)0.7

(1)1-02=10-02=08
(2) 05-02=03




5.

CheS BhEA AN A D20,

(1) 0.5+0.8 (2)0.7-04

(1) 05+08=13 (2)0.7-04=03




the HAE 252 AL,

15
1000

E27F1000 Q1 B4 424 Al A 2 YeRd 5= QL

15 15
21000 = a5 1000

2+ 0.015 = 2.015




® (1) 72 (2)3.2 @ (1) 72 (2)0.32
® (1) 0.72  (2) 0.32 @(1) 0.072 (2) 0.32
® (1)0.072 (2) 3.2

(1) 0.001°] 7221 4= 0.001 x 72 = 0.072
(2) 0.01°] 3221 4= 0.01 x 32 = 0.32




9 7HA 9] 57} Bl % Gl 2 S
AL o AP

de] z2] £A4S vws) 2H ©°] 7 F4th
©2 [ |t 08, @[ gl 98 Bl ©> OYYTh
metd, £ $2H A2 7|22 21 O, ©, OYUTh




9. [l awe 45 A & A
(1) 605cm =] |m
(2) 3km 350m =[_|km

D (1) 605 (2) 3350 @ (1) 6.05 (2) 3.035

@) 6.05 (2) 3.35 @ (1) 6.5 (2) 3.305
® (1) 6.5 (2) 3.35

~&B

1
100cm = 1m,1000m = lcm /2% lecm = —— ,1m =
100 m
—— km ©|T.
Too0 < 1%
605
1) 605 = — = 6.05
(1) cm = J55 m m
3350
(2) 3km350m = 3350m = —— km = 3.35km

1000




10.

—_Hr} 23 0.010] 189 SR} e 45 T 24 4

=
o

ANA 71

0.05 <[ ]<0.18
71 2 5017, 7P A2 51 0.06

=

(% 4=9] 3= 0.17 + 0.06 = 0.23




11. ohe 5 2ol 9 F& oL,

(2.56 km, 6.09km)

\VARR 4
0
i

8.65

2l AL 27HE 7SR AEs

2.56 + 6.09 = 8.65(km)

!
izt
piz)
e
<
2
2t
S




Sof

0.5L9] ¢{7}

ol

=

cCh "
H =

0.2L

il
KO

Jo]9] 9% : 05(L)

P
mabA 0.5 - 0.3 = 0.2(L)

2
T




13.

ofFolet 37} o2& whet S o 2 WYAIE 2k Ut obgolrt
e Ba7)9 RAE 325kgo]l, S|ty } Fo Byy)o] mAE
2.1kgolHHT oFgole JUrED}% 718 2 kg o ol &%k
=] oA L

=1 kg

>
> HE ! Li5kg

oFgo|7t SRt B o Hsto B2 ofgolst e A
Sk e g W ek,
3.25 - 2.1 = 1.15(kg)




14. =71E 8Ast] O oll >, =, <& g3 Mo,

0.53 - 0.28 = 0.25
0.95 — 0.67 = 0.28
wahA] 0.25 < 0.28




[ ool 9wre 8 A2tz 78 AL o= AU

(1) 3.64= 0010 [ ]9l #9Ych
(2) 8.06-20.001°1 [ |91 Yt

D (1) 3.64 (2) 806 @ (1) 3.64 (2) 8060

® (1) 36.4 (2) 8060 @ (1) 364 (2) 806

O

®)(1) 364 (2) 8060

B

(1) 3.64 = 3+ 0.64

32 0.01°] 3000] 1, 0.64= 0.01°] 640] 22
3.64=0.01°] 36421 =JYrct.

(2) 8.06 = 8 4 0.06

8-20.001©] 8000 ©] 1 0.06-Z 0.001 ©] 60°] =&
8.06-2 0.001°] 8060 %1 =AYtk




16.

AR A} B AR A2 758 2 A

tlo

JIEAQ,

@ 2.68 +2.576 © 0.94 +4.17

® 6.213 - 1.865 ® 8-2111

® 0-6-66 @ 0-6-e-© ® 6-0-06

@e-cae 6 eoeo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 - 1.865 = 4.348

® 8-2.111 = 5.889

&0 A7) Ads H20] 245 A4, Adert ged
A A2, EA4) 242, A A4 0] =02 2718 Hlu g
m2tA ALt A7t A2 AR H A2 7128 2 ©-O-
o] FYrt.

s
Uet.
®




17. o0& 4 FolH 57 Jehlis 471 b 2 598 Fel2 2 AL
o= AU

1

@ 25.179] E?J 4= © 0.5299] 100H1¢1 4=
1

© 623.59] 00 Q4 @ 3.0059] 10H[21 &=

® 060 @ ©608e 0066
@oaee 6 e6e0

B

@ 2.517

© 52.9

® 6.235

@ 30.05

=2+ 57F et = 48 242 std
@ 0.5 © 50 ® 0.005 @ 0.05
-0>0>>0




(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
(@)(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 4+ 4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365




19. 9, ©, ®, @4 g= FHAL.

6
- ©.
2.

@ 2
5©1
54®

>
> =l 20

B

a2 AR 2] 110-1=9,@=9

A2 ERAE2-14+10-©=4,0=7
25 AR A @D-14+10-5=5, D=1
Ao A :6-1- O=2,0=3
Q+0+B0+@=14+34+7+9=20




20. the £ 7tSE T WA AgTte] BE AV 2 45 A A &
Vg A 2 Al AR 59 AE FANL. (0L 25 W
A & 5 g

) &) )




21. 1.237892] 100 HiQl 4=olA] 1.23789 9] 108 ZH& 4= 1.23789 2] H
Hi Y 7F?

> = il

> = 90H

—€B \
1.23789 x 100 — 1.23789 x 10
= 1.23789 x (100 — 10) = 1.23789 x 90
%, 1.23789 2] 1008} Q1 =l A 1.23789 & 108} &2 4=
1.23789 2] 90 Bt}

rr




22,

(2] [B][E][6] o 5 £ A7 Qi ele
goto] a4 Al ZHg] -5 vhE o, 30 ol5te] e BE E RS
254 2.

= A

>
> ®ef 484

~&B

30 olste] 5 whE W Ao Ag=1, 2 v "t

(Al XMOH = 7 e =2 74

=1% )— 2 7HA]

(49 ZW‘H | & 4= Q= =AF9] i)

= (A9 Aol & =AE A 2JR UM A 2249 7i4) — 4 71HA]
(&5 AR Aol & 5 A= =AY 7g) - 3 7HA

(i¢ EA 2ol & & Sl =AY ) - 2 717

(&5 AR ol & 4 e A 7H"l“) -1 714

kA, 30 ofsH7t B A Al A2 4

2x4x3x2x1=48 (7H)°ltt.




23.

it

\VARR 4
0
o

33

B

64.524 < 64.5 14 < 64.594

4 3 Aertx) gong

&% A A2l o] £AE vwstH 2 <[ [ <9
g2bA, [ ]=3,4,5,6,7,8 YUtk

50 & FoHd 33 Yt




< wijo] WHE 2Fq150}e] 27} 2163.15

A%} oW 4%eke] 27} 2163.15 o BE Pt ot

AL 4% 5 2 Soltk. o] 4248 (L caolat T ),

2440k 250 o] 2o B 50| FIBRE Azt
L a

- L. ta

~—2163.15

10-2=5,9-t=1->2 =5, T =8,

C=2 =85

Wohf o] YGOBE 84— 1L = 63

AL =21, 7T=2L=1

£l

watA, o]H 44 21.85 o]t}




25.

175L &2 25 0] 9] dH5UH. ol &
AFgSlEEY 7 & o= 56L 7 EEULE AL BEEOl AR
E2o W [ QA F5HA L.

> &

[

> &l 11.2L

B ,

1& — 800mL

7H — 800 x 7 = 5600( mL)

5600mL = 5.6 L

AL &5 UNH £ F:5.6+5.6 =11.2(L)




